Summer 2006 class review for midterm

45 m/c questions from Ch1 – McGill, Ch3 – Liebenson, Lab and Lecture material
1. 35 yo female with LBP that gets worse throughout the day, no pain in the morning

a. disc

b. mechanical

c. SI

d. Knee

2. you selected hip abduction as functional test, what is the most likely clinical presentation

a. all of the following are part of the clinical presentation

i. unilateral LE pain

ii. G. medius

iii. Tight psoas – flex forward and pelvis rocks back

1. if knee bends and pelvis stays put ( TFL

2. if foot externally rotates ( piriformis

3. if hip hikes up ( QL

3. Lower cross syndrome – Janda

a. Weak G max

b. Tight psoas

c. Weak rectus abdominus

d. Tight TL erectors

e. Weak L/S erectors

4. sit ups are not effective for low back disorders due to

a. high transverse abdominus activity

b. high joint load

c. too much psoas

5. pt with disc, which is not likely in clinical presentation

a. pn in the morning

b. pn with sitting

c. pn below the knee

d. pn with lumbar extension
6. which is not associated with poor stability of lumbopelvis

a. weak transverse abdominus

b. loss of lumbar lordosis

c. failing HSB  ?????????

7. which is not a mechanical sensitivity?
a. Pn on sit to stand

b. Pn performing lunge

c. Positive SLR

d. Unable to do dishes – this is an activity intolerance
8. which is suggested to be more predictive of LBP?

a. Scoliosis

b. Tight erector spinae

c. Hyperlordotic lumbar spine

d. Failed one leg stance
9. When performing hip extension screen, which is more complicated?

a. Decreased ROM

b. B/L lumbar extension

c. L/S tension

d. Unilateral rotation

Physical Therapy Midterm Review from Winter 2000

1. A unilateral lower extremity problem, such as patellofemoral syndrome, with lateral knee pain, which is most commonly involved?  Hip abduction.  G. medius is the weak muscle.  Start with pelvic tilts and abdominal hollowing.  Then a G. medius exercise.

2. A mechanical back problem, first episode, the main thing in ROF (review of findings) - to assure the patient we can help.

3. Main criteria for making the modified Thomas test a good test – leg clears the table, lumbar spine is flexed and the leg is more than 10 degrees above the table.  A hip extension faulty functional movement pattern is a short stride.

4. A inhibited G. medius – you need to relax tight TFL, adductors and piriformis and perform 1-legged stance training.

5. If we have an inhibited muscle – it will be weak, can have trigger points, hypomobility in the joint and needs to be lengthened.  Train from coordination to strength, isometric training first because it is more stable than eccentric.  Achieve proximal stability before distal stability.

6. Purpose of abdominal hollowing – activating/targeting the transverse abdominus and multifidus, trying to load them in a neutral spine position.

7. Janda’s muscle imbalances are due to – mainly gravity or static posture loads, but also over-exertion.

8. Goals of musculoskeltal exam – what is the pain generator, what’s loading that tissue causing tension, what’s the linkage to why the imbalance exists.

9. Gluteal bridging, what is being monitored?  Pelvis should be neutral or posterior, hamstrings should be inhibited, thoracic spine erectors should be inhibited, lumbar spine erectors should be firing.

10. Three main stabilizers for the low back – multifidus, lumbar spine erectors and transverse abdominus (the big 3) – a 4th would be the QL.

11. Antagonist for the rectus abdominus – lumbar spine erectors.  Pain with sit-ups is usually due to overactive lumbar spine erectors.

12. Altered hip extension is associated with what clinical syndrome?  Facet syndrome.

13. Poor trunk flexion is associated with?  Disc syndrome

14. Horizontal side support works – QL and the big 3 (multifidus, lumbar spine erectors and transverse abdominus).  Good to use for LBP and poor hip abduction.

15. Patient with pain on moving from sitting to standing and pain in the thoracic/lumbar erectors most likely involves which muscle?  Psoas

16. Hurt vs. harm – 

PT MITERM PONIES

Fall 2002 – answers not verified

1. A 42 year old male presents with LBP of three days onset, no trauma.  Orthopedic tests are negative, patient has pain on going from sit-to-standing.  What functional movement assessment is most likely faulty?

a. hip extension

b. hip hop

c. hip abduction

d. squat test

2. In the above patient what muscle is MOST likely to be weak?

a. gluteus medius

b. rectus abdominus

c. gluteus maximus

d. multifidus

3. In the above patient, which of the following would most likely be tight?

a. gluteus maximus

b. gluteus medius

c. T/L erector spinae

d. rectus abdominus 

4. An 18 year old female with medial knee pain, no trauma or nerve root signs.  What is the most indicated functional movement assessment?

a. Gastroc-soleus length test

b. Squat test

c. Hip abduction

d. Hip extension

5. In the above patient, what would most likely be weak?

a. Tensor fascia lata

b. gastrocnemius

c. admiration of Britney Spears

d. gluteus medius

Missing questions 6-11

12. If an inhibited serratus anterior is found during the functional assessment of a patient which of the following is the most likely associated postural distortion?

a. protracted scapulae

b.  forward head posture


c.  elevated scapula

d.  gothic shoulder

13. If an inhibited gluteus medius is found on functional testing which of the following is most likely the pain generator?

a. overactive piriformis  
b. overactive gluteus maximus
c. lumbar facet
d. lumbar disc

14. When performing Post-isometric relaxation which of the following is an important principle for achieving good outcomes?

a. barrier should be aggressively engaged

b. release the barrier immediately after relaxation

c. wait for relaxation after contraction

d. ask for 80 – 90 percent contraction against resistance

15. If an inhibited muscle were found on functional testing (postural analysis or movement pattern) which of the following therapeutic interventions would NOT be considered?

a. stretching before strengthening

b. training torque production ability as early as possible

c. adjusting first

d. training proximal stability before dynamic strength and endurance

16. Which of the following is not usually an inhibited/weak muscle?

a. Lower trapezius

b. Serratus anterior

c. Longus colli

d. Levator Scapula

17. Which of the following is not a principle of exercise instruction?

a. keep exercises simple

b. match exercises to activities of daily living

NO MORE ANSWERS

NO MORE QUESTIONS FOR THIS PONY

PT MIDTERM – Spring 2001 – Someone says this is the exact PONY – I wouldn’t count on it!!!!

1. A patient has trouble with sitting to standing position.  Which of the following muscles are weak?

GLUTEUS MAXIMUS

2. Which of the following muscles are tight?

PSOAS

3. What functional maneuver do you use to assess the above patient?

HIP EXTENSION

4. Female patient with unilateral knee pain.  What functional maneuver would you use?

HIP ABDUCTION TEST (LE = HIP ABDUCTION)

5. Which of the following muscles are weak?

GLUTEUS MEDIUS

6. What exercise is the least appropriate to begin?

GLUTEUS MAXIMUS BRIDGE

7. Patient has lower crossed syndrome.  Which of the following is true?

TIGHT THORACOLUMAR AND PSOAS, WEAK GLUTEUS MAXIMUS AND ERECTORS

8. To keep patient progressing on program:

KEEP EXERCISES EXCITING

9. It’s important to train control before torque because:

PROXIMAL STABILITY BEFORE DYNAMIC STRENGTH

10. According to McGill, which is the least important for spinal stability?

SPINAL FLEXABILITY

11. Which is not an indication for Thomas test to relax the hip flexors?

LATERAL PELVIC SHIFT

12. Patient has inhibited gluteus maximus.  Which of the following is the associated functional distortion?

TIGHT PSOAS, ANTERIOR PELVIC SHIFT

13. Patient has inhibited gluteus maximus.  The most likely pain generator is:

OVERACTIVE PIRIFORMIS

14. When performing PIR, which is an important principle for good outcomes?

WAIT FOR RELAXATION

15. With an inhibited muscle on testing, which information do you not do?

STRETCHING BEFORE STRENGTHENING (YOU WANT TO STRENGTHEN FIRST; WEAK MUSCLE – STRENGTHEN FIRST)

16. Which of the following is not associated with inhibition of phasic muscles>

SHORTENING (PHASIC MUSCLES ARE FOR POSTURE/STABILITY)

17. Which of the following is not a principle of exercise instruction?


DISCUSSING EXERCISES ON DAY 3 OR 4 (DO ON DAY 1)

18. According to article by Triano, which of the following does not apply to the practitioner?

HAVE SOLO PRACTICE (HE WANTS YOU TO HAVE A MULIDISCIPLIARY ONE)

19. Which of the following is not a stage of motor development to progress?

SENSITIZATION

20. What would be the difference in how you would treat a patient with pain for eight months vs. eight hours? (chronic vs. acute)

ULTRASOUND

21. According to Janda, muscle imbalances are predictable responses to what?

GRAVITY

22. The criteria for exercise is?

WHEN THE PATIENT CAN PERFORM QUALITY WITHOUT PAIN

23. Which of the following is not a goal of musculoskeletal exam?

DETERMINING THE PHYSIOLOGICAL PATTERN

24. What is the functional training range?  

ROM WITH PROXIMAL STABILITY WITH PAINFREE MOTION

25. Which of the following is necessary to strengthen a weak muscle?

KINESTHETIC AWARENESS

26. Which of the following is not a reason why relaxation is preferred over stretching?

RELAXATION IS MORE PAINFUL

27. Which of the following is not important to gluteus maximus bridging?

WANT CO-CONTRACTIN OF HAMSTRINGS (YOU DON’T WANT THIS)

28. Lower-crossed syndrome has an increased anterior pelvic tilt. Which gait abnormality is associated?

STRIDE LENGTH

29. If gluteus medius is inhibited, which of the following takes over?

TFL

30. Which of the following is a synergist of gluteus maximus?

HAMSTRINGS

31. Sit-ups are rarely indicated because?

THEY INCREASE FLEXION LOADING

32. Which of the following is associated with poor stability of the lumbopelvis?

FAILED HORIZONTAL SIDE BRIDGE AND FAILED THOMAS TEST

33. When performing manual resistance training (PIR), look at what?

PATIENT FEEDBACK

34. A 45 year old female has mid-back pain while reaching.  Which of the following is least likely to not be the pain generator?  

SERRATUS ANTERIOR (BECAUSE IT IS WEAK)

35. What is the most likely linkage to the overloading of the pain generator?

One test says PUSH UP and one says ARM ABDUCTION

36. Which of the following muscles is most likely weak?  

One answer was SERRATUS ANTERIOR and another was MIDDLE TRAPS

37. According to McGill, the most likely cause of spinal injuries is what?

REPITITION

38. Which of the following is not one of the big three exercises for stabilization?

PELVIC TILT

39. Triano predicts that in 2010, there will be a need for 2 times the amount of DCs.  Which of the following is not necessary?

RESTRICTION OF NON-TRADITIONAL PRACTICE TRACTS

40. According to Liebenson, which is a component of the biopsychosocial approach to disability?  

GET THE PATIENT TO INCREASE ACTIVITY

41. If there is pain after performing sit-ups, what is the problem?

DOMINANT ERECTOR SPINAE

42. When having a patient perform the Bird-Dog, remember to do what?

BRACING

43. If a patient’s jaw jets forward in the supine position, what is the problem?

TIGHT SUBOCCIPITALS

44. If a patient has pain from sitting to standing, what is the functional pathology?

TIGHT PSOAS

45. According to the Chapman-smith article, what is the bect approach to practice?

SEVEN VISITS FOR $120.00

PT MIDTERM – No Date

1. According to the Mercy Guidelines, which of the following is a factor which predicts a longer recovery than normal?

a. past history of greater than 4 episodes for the same or similar complaint 

b. presence of trigger points

c. presence of spinal subluxation for more than1 month

d. a past history of more than 4 areas of regional pain

2. According to the clinical standards advisory group (CSAG-British) Guidelines which of the following is not a risk factor of chronicity?

a. x-ray evidence of spinal degenerative disease

b. low job satisfaction

c. total work loss in last 12 months

d. reduced trunk muscle strength/endurance

3. According to Panjabi what are the three subsystems responsible for spinal stability

a. muscle, joint, ligamentous

b. muscle strength, muscle endurance, muscle flexibility

c. joint, muscle, neural control

d. propriosensory, articular-ligamentous, cerebellar

4. What finding is prospectively correlated with increased recurrence rate for low back pain?

a. degenerative disc disease

b. decreased back extensor endurance

c. decreased trunk flexion mobility

5. The lower crossed sydrome is often associated with an increased anterior pelvic tilt.  Which of the following gait abnormalities is not associated with this dysfunction?

a. decreased stride length

b. excessive subtalar pronation

c. external tibial rotation

d. decreased hip hyperextenion

6. WOTF is likely to have bigger trigger points due to greater than normal fatigabiltiy?

a. upper trapezius

b. serratus anterior

c. pectoralis major

d. longissimus thoracis

7.  In Janda’s test of prone hip extension which of following is a finding?

a. fulcruming of the lumbar spine

b. contraction of the contralateral erector spinae before the ipsilateral erector spine

c. extension of the knee

d. hip hyperextension of 10 degrees

8. WOTF is a qualitative functional test for determining a weak quadracept femoris?

a. Sorensen’s test

b. Janda’s trunk flexion test

c. Squat test

d. Modified Thomas test

9. The gluteus medius is important for it’s relationship to WOTF functions?

a. lifting

b. carrying

c. ??? stance phase of gait

d. terminal stance phase of gait

10. Which of the following is not a muscle with a primarily stabilization function?

a. gluteus medius

b. multifidus

c. upper trapezius

d. deep neck flexors

11. Which of the following is not a muscle Janda has classified as a postural muscle?

a. SCM

b. Suboccipitals

c. Pectoralis

d. Gluteus maximus
12. Which of the following is not a requirement for appropriate muscle strengthening?  

a. a patient has been pain free for 1 week

b. adequate joint motion

c. tight muscles are relaxed/stretched

d. weak muscles have been facilitated

13.  Difficulty performing pelvic tilts would be due to which of the following?

a. overactive gluteus maximus

b. weak iliopsoas

c. overactive piriformis

d. overactive hamstrings

14.  Which muscle is not tight in the layer syndrome?

a. hamstrings

b. lumbosacral erector spinae

c. upper trapezius

d. suboccipitals

15. The upper crossed syndrome causes increased strain at all the following joints except?

a. C0-C1

b. Glenohumeral 

c. Cervico-thoracic

d. Thoraco-lumbar

16. It is important to train motor control before torque production ability because

a. this is what Janda teaches

b. proximal stability is necessary for distal mobility

c. electrical muscle stimulators works the mind:muscle link

d. isotonic exercise is the best way to build muscle strength

17. Which of the following is not a realistic end point of care

a. elimination of subluxation complex

b. pain relief

c. elimination of activity intolerance

d. return to work

18.  Which of the following is true according to the biopsychosocial model?

a. anatomical factors are more important than psychological 

b. psychological factors are more important than anatomical

c. psychological and social factors are most important

d. biological,psychological, and social factors are all important

19.  Which of the following does not represent a “red flag” of disease?

a. facet arthrosis  ????
b. history of cancer

c. prolonged corticosteriod use

d. age over 50

20. Which of the following is not true regarding activity modifications for acute low back pain?

a. limit prolonged sitting to less than 20 minutes

b. they should not be given at the first visit

c. limit bending or twisting while lifting

d. limit heavy lifting

21. Which of the following is true regarding deconditioning syndrome?

a. depends on degree of spinal degeneration

b. involves physical and psychological aspects

c. is worse for herniated disc than myofascial or facet syndrome

d. was first proposed by Janda and Lewit

22. Which of the following muscles do not commonly substitute for an inhibited glut. Medius?

a. TFL

b. QL

c. Piriformis

d. Iliocostalis lumborum ?????
23. In the modified Thomas test if the hip flexed 15 degrees, the knee is at 70 degeesflexion, and the thigh is in a slightly abducted position which muscle(s) are shortened.

a. rectus femoris only

b. rectus femoris, TFL, and iiopsoas

c. TFL only???
d. Iliopsoas and rectus femoris only

24. If an inhibited gluteus maximus is found on functional testing which of the following therapeutic interventions would not be considered.

a. stretching of the iliopsoas

b. posterior pelvic tilt and bridge exercises

c. stairmaster

d. adjustment to thoracolumbar spine

25. If an inhibited glut. Medius is found on functional testing which of the following therapeutic interventions would not be considered?

a. stretchin of the piriformis

b. stretching of the rectus femoris

c. stretching of the TFL

d. relaxation of the short thigh adductors 

26. If an inhibited rectus abdominus is found on functional testing which of the following therapeutic interventions would not be considered

a. stretching of the erector spinae

b. relaxation or stretching of the iliopsoas

c. trunk curls on an incline board

d. adjustment to the lumbar spine

27. According to Janda, which of the following is not one of the three primary sources of proprioceptive influence?

a. sacroiliac area

b. posterior neck muscles

c. temporomandiular area

d. sole of foot

28.  If an inhibited muscle is found on functional testing (postural movement patterns) which of the following therapeutic interventions would not be considered?

a. stretching before strengthening

b. training torque production ability as early as possible

c. adjusting first

d. training proximal stability before dynamic strength and ???

29.  According to Jull, abdominal hollowing activates which of the following trunk muscles?

a. rectus abdominus and transverse abdominus

b. abdominal obliques and erectorspinae

c. transverse abdominus and multifidus

d. erector spinae and rectus abdominus

30. Spinal stabilization exercises should be progressed ??

a. fast to slow

b. strength to coordination

c. eccentric to isometric

d. stable to labile

31. The purpose of abdominal hollowing is to 

a. improve patient appearance

b. achieve co-contraction of transverse abdominus and multifidus

c. restore normal lumbar lordosis

d. recruit abdominal obliques and rectus abdominus

32. Headaches are correlated with which of the following functional deficits?

a. SCM weakness

b. Inhibition of the serratus anterior

c. Poor endurance of the deep neck flexors

d. Sternoclavicular joint dysfunction

33. Bridges and squats are appropriate exercises for which of the following muscles?

a. gluteus maximus

b. gluteus medius

c. abdominals

d. erector spinae

34. Postural findings I elevation of the shoulders, forward head, upper cervical hypertonicity and rounded shoulders would be indicative of:

a. Upper Crossed Syndrome

b. Lower Crossed Syndrome

c.   Layer Syndrome

d. Myofascial Pain Syndrome

35. In a faulty (altered) hip extension movement pattern, the most likely dysfunction would be:

a. tight/overactive hamstrings and weak/inhibited psoas

b. tight/overactive gluteus maximus and weak/inhibited psoas

c. tight/overactive psoas and weak/inhibited gluteus maximus

d. tight/overactive psoas and weak/inhibited hamstrings

36. In a faulty (altered) hip abduction movement pattern, the presence of hip hiking/elevation would most likely indicate:

a. tight/overactive gluteus medius and weak/inhibited quadratus lumborum

b. tight/overactive quadratus lumborum and weak/inhibited gluteus medius

c. tight/overactive gluteus medius and quadratus lumborum 

d. weak/inhibited gluteus medius and quadratus lumborum

37. Which of the following muscles tend to dominate in a faulty shoulder abduction movement pattern?

a. bicep and deltoid

b. tricep and deltoid

c. upper trapezius and levator scapulae

d. serratus anterior and pectoralis major

38. An overactive quadratus lumborum will lead to which of the following?

a. “false” hip extension

b. “trick movement” during runk flexion

c. poor endurance during Sorensen’s test

d. “false” hip abduction?????
39. Dead bugs, trunk curls and sit backs are good exercises for which of the following muscles?

a. gluteus maximus

b. quadriceps femoris

c. abdominals

d. back extensors

40. A relative increase in the prevalence of the thoracolumbar paraspinal muscle bulk is a sign of which of the following?

a. facet syndrome

b. SI syndrome

c. Lumbosacral instability????
